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經原總體篇95/下  期末考   班級：        學號：        姓名：          代碼:
Mankiw Ch 23-36  (2007/06/25, 18:10-19:50 pm)  
I. Multiple Choices (單選題，48 points, with 3 points for each question)
Ch 23

1. Anna, a Taiwan citizen, works only in Germany. The value added to production from her employment is included 

a. only in Taiwan GDP.

b. only in German GDP.

c. in both German and Taiwan GDP.

d. in neither German nor Taiwan GDP.
Ch 31

2. Suppose the real exchange rate is 1/2 gallon of U.S. gasoline per gallon of Taiwan gasoline, a gallon of U.S. gasoline costs US$2.0, and a gallon of Taiwan gas costs NT$25. What is the nominal exchange rate?

a. NT 25 dollars per U.S. dollar

b. NT 12.5 dollars per U.S. dollar

c. NT 50 dollars per U.S. dollar

d. None of the above is correct.
Ch 35

3. Friedman and Phelps argued that

a. there is no reason to think the rate of inflation is related to unemployment in the long run.

b. policymakers face a long-run Philips curve that is vertical.

c. the long-run unemployment rate is independent of the inflation rate.

d. All of the above are correct.
Ch 33

4. If the dollar appreciates because of speculation or government policy

a. or other countries experience recessions, aggregate demand shifts right in the United States.

b. or other countries experience recessions, aggregate demand shifts left in the United States.

c. aggregate demand shifts right in the United States. If other countries experience recessions aggregate demand shifts left in the United States.

d. aggregate demand shifts left in the United States. If other countries experience recessions aggregate demand shifts right in the United States.

Ch 27
5. The efficient markets hypothesis says that

a. individual investors with no insider information can make no money in the stock market.

b. it should be difficult to find stocks that are not correctly valued.

c. stock prices do not follow a random walk.

d. All of the above.
Ch 25

6. If there are constant returns to scale, the production function can be written as

a. xY = 2xAF(L, K, H, N).

b. Y/L = A F(xL, xK, xH, xN).

c. Y/L = A F( 1, K/L, H/L, N/L).

d. L = AF(Y, K, H, N).
Ch 33
7. If at some interest rate the quantity of money supplied is greater than the quantity of money demanded, people will desire to

a. sell interest-bearing assets causing the interest rate to decrease.

b. sell interest-bearing assets causing the interest rate to increase.

c. buy interest-bearing assets causing the interest rate to decrease.

d. buy interest-bearing assets causing the interest rate to increase.
Ch 28

8. Suppose that some people report themselves as unemployed when, in fact, they are working in the underground economy. If these persons were counted as employed,

a. both the unemployment rate and labor-force participation rate would be higher.

b. both the unemployment rate and labor-force participation rate would be lower.

c. the unemployment rate would be higher and the labor-force participation rate would be higher.

d. the unemployment rate would be lower and the labor-force participation rate would be unaffected.
Ch 34

9. Which of the following correctly explains the crowding-out effect?

a. An increase in government expenditures decreases the interest rate and so increases investment spending.

b. An increase in government expenditures increases the interest rate and so reduces investment spending.

c. A decrease in government expenditures increases the interest rate and so increases investment spending.

d. A decrease in government expenditures decreases the interest rate and so reduces investment spending.
Ch 35

10. If the minimum wage decreased, than at any given rate of inflation

a. both output and employment would be higher.

b. neither output nor employment would be higher.

c. output would be lower and unemployment would be higher.

d. output would be higher and unemployment would be lower.
Ch 29

11. If the public decides to hold more currency and fewer deposits in banks, bank reserves

a. decrease and the money supply eventually decreases.

b. decrease but the money supply does not change.

c. increase and the money supply eventually increases.

d. increase but the money supply does not change.
Ch 36

12. Which of the following is not an argument against policymakers trying to stabilize the economy?

a. Economic forecasting is highly imprecise.

b. Long lags may cause stabilization policies to in fact destabilize the economy.

c. Monetary policy affects aggregate demand by changing interest rates.

d. Fiscal policy must go through a long political process.
Ch 29
13. If the Fed conducts open-market purchases, the money supply

a. increases and aggregate demand shifts right.

b. increases and aggregate demand shifts left.

c. decreases and aggregate demand shifts right.

d. decreases and aggregate demand shifts left.
Ch 33

14. The misperceptions theory of the short-run aggregate supply curve says that if the price level increases more than people expect, firms believe that the relative price of what they produce has

a. decreased, so they decrease production.

b. decreased, so they increase production.

c. increased, so they decrease production.

d. increased, so they increase production.
Ch 30

15. Suppose someone in Taiwan bought a parcel of land for $10,000 in 1960 when the price index equaled 100. In 2002, the person sold the land for $100,000, and the price index equaled 500. If the person must pay 20 percent of any capital gain in taxes, then the after-tax real capital gain (in 2002 dollars) on the land was

a. $72,000.

b. $40,000.

c. $32,000.

d. $6,400.
Ch 34
16. Assume that the MPC is 0.75. Assuming only the multiplier effect matters, an increase in government purchases of $200 billion will shift the aggregate demand curve

a. left by $150 billion.

b. left by $200 billion.

c. right by $800 billion.

d. None of the above are correct.

II. 計算題與申論題 (總分：52 分)

(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。
分析題請說明、並依題目要求做圖。)
Ch 26
1. If in a given year an economy has consumption of $5000, investment of $2000, government purchases of $1500, exports of $800, imports of $600, taxes of $1200, transfer payments of $600, and depreciation of $300,  please calculate the followings: (Total:10%)

(1) GDP (3%)    

(2) National saving (3%) 

(3) Private saving (2%)   

(4) Government saving (2%) 

Ch 30

2. Suppose that this year’s money supply is $500 billion, nominal GDP is $15 trillion, and real GDJP is $10 trillion. (10%)

(1)  What is the price level?(3%) What is the velocity of money? (3%)

(2)  Suppose that velocity is constant and the economy’s output of goods and services rises by 5 percent each year. What money supply should the Fed set next year if it wants zero inflation? (4%)
Ch 32
3. 大陸中央銀行中國人民銀行於今年五月間宣布調整存款準備率、人民幣存貸款利率、以及讓人民幣適當升值，預期此舉將有以下四個效果，請分別做圖與說明。（共16分，每小題各4分。改寫中國時報：人民幣看漲？大陸下猛藥調升雙率，2007.05.19） 

(1) 防止通貨膨脹
(2) 防止資本市場過熱
(3) 改善過多的貿易順差
(4) 避免預期人民幣升值，防止過多外匯流入
Ch 34
4. 1970與80年代有兩次石油危機，造成美國停滯性通貨膨脹（stagflation），假設石油價格上漲是長期的現象，請以總合需求-總合供給模型（AD-AS model），依題號分別做圖與說明，分析短期與長期的產出與物價的影響。(共16分)

(1) 請問石油危機使哪一條曲線移動，造成停滯性通貨膨脹？(2分)

(2) 若依照古典學派，政府不採用任何政策，請問長期是哪一條曲線移動？對產出與物價的影響如何？（4分）
(3) 若依照凱恩斯學派，政府可能採用擴張性政策，請問將使哪一條曲線移動？對產出與物價的影響如何？請針對短期與長期分析。若是採用貨幣政策，對利率影響如何？若是採用財政政策，對利率影響如何？（10分）






























